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inport java.io.*,
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public static void main (String [] args ) throws Exception

{
String enpt
Sring sO =
Sring s2
Sring s3
Sring s5 ;
Sring sab = "ab";
Sring sha = "ba";
Sring sabbc = "abbc";
Sring s124 = "124";
Sring s037 = "037";
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testl(enpty,true);
test1(sO,true);
test1(sab, true);
test1(sbha, fal se);
test 1(sabbc, true);

test2(enpty, enpty, enpty);
test2(enpty, sO, s0);

test 2(s0, enpty, s0);
test2(s124, enpty, "124");
test2(enpty, s124,"124");
test2(s124, s0, "0124");
test 2(s0, s124,"0124");
test2(s124,s3,"1234");
test2(s3,s124,"1234");
test2(s124, s5,"1245");
test 2(s5, s124,"1245");
test2(s2,s124,"1224");
test2(s124,s2,"1224");
test 2(s124, s037, " 012347") ;
t est 2(s037, s124, " 012347") ;

// Returns atrue if the string of characters is ascending el se
/1 it will return a fal se.

public static bool ean i sAscendi ng(String s)

{
int counter = 1;
bool ean status = true;

while (counter <= s.length() - 1)
if (s.length() <= 1)
status = true;
el se
if (s.charAt(counter - 1) <= s.charAt(counter))
status = true;

el se
status = fal se;

count er ++;

return status;



//  The nerge nethod takes in two strings and puts themin a
/1 string in ascending order.
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public static String nerge(String s1, Sring s2)

{

Sring s3 ="", tenp = "";
int place =0, counter = 0;
while ((sl.length() '=0) & (s2.length() !'=0))
if (sl charAt(place) <= s2.char A (place))
s3 += sl. char At (pl ace);
tenp = si;
sl ="";
while (counter < (tenp.length() - 1))
{
sl += tenp. char At (count er +1);
count er ++,
counter = 0;
tenp = "";
el se
if (sl charAt(place) > s2.charAt(place))
s3 += s2. char At (pl ace);
tenp = s2;
s2 ="";
while (counter < (tenp.length() - 1))
{
s2 += tenp. char At (count er +1) ;
count er ++;
counter = 0,
tenp = "";
}
}
}
if (sl.length() > 0)
s3 += sl,;
if (s2.1ength() > 0)
s3 += s2;
return s3;

}
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/] Tests the bool ean i sAscendi ng(String) nethod
/1

private static void testl ( String s, bool ean shoul dBe )
{
bool ean is = isAscendi ng(s);
Sring natch;
if ( is == shouldBe ) natch = "ok";
el se match = "I WRONG 11"
Systemout. println("\ni sAscendi ng(\"" +
S +
"\") should be " +
shoul dBe +
"is "+
is +
R
mat ch) ;



I
/] Tests the String nerge(String, Sring) nethod
I
private static void test2 ( String s1, String s2, String shoul dBe )
{
Sring is = nerge(sl, s2);
Sring natch;
if ( is.equal s(shouldBe) ) nmatch = "ok";
el se match = "111 WVRONG !'11™;
Systemout. println("\nmerge(\"" +
sl +
A
s2 +
"\") should be \"" +
shoul dBe +
\"is A"+
is +
ENC
mat ch) ;
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